
3
0
,0

103,0

139,0

86,0

1
0
,0

°

Material: EGI 3t
powder coating

Z-Bracket Top

SEMS M5x12  
6EA

Z-Bracket Bottom

139,0

8
6
,0

GPCL1240MA4GN Z Bracket



2. Z-Bracket Top

1. Z-Bracket Bottom

3. SEMS M5x12 (2ea)

4. SEMS M5x12 (4ea)

2. Place “Z Bracket Top” on the camera Bracket.

Installation procedure

1 => 2 => 3 => 4

3. Assemble “SEMS M5x12” with the camera bracket.

1. Fix “Z Bracket Bottom” at the position to install the camera. 

4. Assemble “Z Bracket Bottom” with “Z Bracket Top”.

Adjust the angle as assembling “SEMS M5x12” screws.


	슬라이드 1
	슬라이드 2

